
P O L A N D

P O L A N DP O L A N D

P O L A N D

- 76 -

•	 ADATTATORI
•	 ADAPTORS
•	 VERBINDUNGSSTUTZEN
•	 ADAPTATEURS

750

PART NUMBER F L Ch1
750 2 M10X1 22 18
750 3 M12X1,5 22 18
750 5 M16X1,5 22 22
750 7 M22X1,5 26 28

•	 BLOCCHETTI GIREVOLI
•	 SWIVELS
•	 EINSCHRAUBSTUTZEN MIT 				 
	 SCHNELLANSCHLUSS DREHBAR
•	 BLOCS TOURNANTS

651

PART NUMBER TYPE Ch L1 L2 L3
651 5B B 16 35 25,5 20

•	 BLOCCHETTI GIREVOLI
•	 SWIVELS
•	 EINSCHRAUBSTUTZEN MIT 				 
	 SCHNELLANSCHLUSS DREHBAR
•	 BLOCS TOURNANTS

649

PART NUMBER TYPE F L
649 5B B M16X1,5 20,5




